

I.

1.

k_1 .

$$k_1 = r_1 - s_1,$$

r_1 e

, s_1

2.

$X_1, X_2 \dots X_{k1},$

3.

$X_1, X_2 \dots X_{k1}$

;

$$u_1 = \frac{\partial U}{\partial X_1} = 0; u_2 = \frac{\partial U}{\partial X_2} = 0; \dots u_{k1} = \frac{\partial U}{\partial X_{k1}} = 0.$$

(1)

(1)

k_1

k_1

4.

$X_1, X_2 \dots X_{k1}.$

5.

$X_1, X_2 \dots X_{k1}.$

6.

$X_1, X_2 \dots X_{k1}.$

7.

(1).

$X_1, X_2 \dots X_{k1}.$

8.

$X_1, X_2 \dots X_{k1},$

9.

II.

1.

2.

k_2 .

$$k_2 = r_2 - s_2,$$

r_2 e

, s_2

k_2

()

().

3.

(/

,)

$X_1, X_2 \dots X_{k2}.$

4.

.

;

$$u_1 = \frac{\partial U}{\partial X_1} = 0; u_2 = \frac{\partial U}{\partial X_2} = 0; \dots u_{k2} = \frac{\partial U}{\partial X_{k2}} = 0.$$

(2)

(2)

k_2

k_2

5.

$X_1, X_2 \dots X_{k2}.$

6.

$X_1, X_2 \dots X_{k2}.$

7.

(2).

$X_1, X_2 \dots X_{k2}.$

8.